REOAYYARE Xa7i—Fk

DiITr O/R(BEHY) O/RKR(BERL) H=%£2% y=F4% ZR=KS%
BEEOMTEHBI= T

N ST A—R SAEEE BkiG4
BHHOAYY2015F E A KB BHEROAYYF VS. BHEROAYYE 2015/05/31 12:40| B E S\ 95 FFERIG KR
BaaAUJE /& . AepdE ]
FTIE] B &£ i 2 3 4 5 6 7 8 9 HTEES SR HRIT A= U ERR 2%
1 () 48T iRi%Z JtHl =3 i S PO B 2 Rl e | 3 oioioioitioio
2 (=)38) WHE S5 | mKkx1eT =3 =T K& 2i1i0i0i0i0i1i0iH1
3 (I)GE) 83{RiE E=xD R &3 IO 3itit1ioit1ioioitio
4 (ZE)(4)4 128708 B8 | ok (FTEERCT=E]n g thg ERQ® 402i3i1i2:0.0i0i2
5 (F)3(3%) 53&4 ME| HBIk ER@ W%k R 4i1i1i0ioioioioio
6 (#) 5277 %% 30— ER R EZ1DO® R 3i1i1i0i1i0i0i0i0
7 (#) TTKE Btk W #3440 = 3i1i0i0i0i1i0i0i0
8 ¢ ) 45)1|Ig 2 EkE2 @ TR i 2:i1i0{0i0i0i{1i0:}2
9 (2)GE(Z)  |65RAI fH— =&k : k20 = 3 1:0i3i1:0:0:0
10 (—)38) 8iNE % | =mEzzzE] BIL == =R 3 0:0:i0i1i0i0i0
11 #B)(—=) 281 & 3 B3 —3 3 0i0i0i0i0i0io0
E[(33i8i7i1i7i3i3i1i{5
[ ZiR BF4 2Bk E] BRkEK TE BRI #EHR E=ir |5k 5%k | 2R [h—7 k& [BEA
o 5 14B8 #H— 2 13 1 0 1 2 0 2 2
L Hhik 89FEH FNE 5 24 6 1 2 1 1 6 5
A
n
%
2




REIOAYYARE Xa7i—Fk

DiITR O/FR(BEHY) O/KR(BERL) H=%2% y=F4I% ZR=KS%

BFRORFIIHBI=0TH

BRI YIF % . AR |
FTIIE] i FET3 i 2 3 4 5 6 7 8 O HTEIE AL MR A S RA S %
1 () 75N HEAE HhiR i) i 3 0:0i0{0i0i0i0
2 (&) 43/E B =3 %20 Em 3i1i1:0:0{0i0i0i0
3 (&) 91t B |HRIKE10 200 mERE10 2i3i1i0i1i0i1i0i2
4 R B9EH FM&E| H20 AR —3 3 1{0i1i0i0{0i0
5 (=) 215 HE FHt e hZD&E Picgm Q) 3 1i0i2i{0i0i0if
6 (=) 8TIEH =R e Ik 2 2 0i0{0i1i1i0i2
7 #B)(—) 581 BN =3% Vb3 iz 3 0i0i0ioioionio
8 (3t) 003RA #1HA | ERE 2 1{0i0i0i0i0if1
9 ¢ ) 508R 8 18 =3 R 2 1i0i0i0i0i0i0
10 () 4EE & TR MRS 1 0i{0i0i0i1:i0i0
11 () 1488 #— ER =3¢ 2 0:{0i0i0i0i0i0
12 FBN2) 12 £ SEEK £ 1 oioioioioitio
13 (=38 108H# 8 ek — I8 2 1{0i0i0i0{0i0
12900 4i7i0i4i1i3i1i6
B B EiR EFL Kk [E] BRE HE BRI #EHR ZoF | GmER| Bk [ X [h—7 | k= [Haa]
O bivk 83fRiE & 6 28 7 0 1 1 1 3 2
w i 53&H FE 1 5 0 0 0 2 0 1 0
2
%
1
F—L% 1 2 3 4 5 6 7 8 9 10 11 12 g
BHEOAYYVE 1 1 4 0 0 0 2 8
HROAYYF 1 0 2 1 4
AV
aAVR2

R AYY2015F E AT E 2015/05/31 1240 BRImOAYJF VS, RIRaAY'VE (BB = 5150 B Bk 5 K 2R )



